Just Like on Earth
Why is Nick sad? 
Nick is sad because 
Who helps the children organise a party?




What happens to Slig?

Slig

Does Nick enjoy his party? Write the line that tells you below.

Nick
enjoy his party because 
Draw the food that Mr Potts brings to the party.
Fill in the missing words.
But 
   was a balloon! The balloon was  


 down by ropes. The balloon went up                    Kaz in it. Kaz                               out of the balloon. The rope                                           Slig                     . “That was the                                party ever!” said Nick.
